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‘Y’ Chromosome in Women’s EGG? (Hypothesis)
Dharmaj Mitra

I. Introduction

It is incredible to all that, even the modern genetic scientists show gender discrimination. But, it is true.
Logical thinking itself reveals us that certain secrets, which cannot be observed through an electron microscope,
exist.

It is thus mentioned in the book co-authored by Gardener and Snusted (Principles of Genetics Linkage
crossing over and Chromosome mapping) as: when a sperm having X-chromosome joins with the embryo, a
zygote having two X chromosomes is produced, The result is a girl child. If the sperm does not have any X
chromosome, it fuses with the egg and produces a zygote having one X chromosome. The result is a male child.

A contradictory observation, correcting the above, by another genetic scientist (Wilson) follows: If a
zygote has two X Chromosomes, it grows up as girl child, and if it has one X chromosome and one Y-
Chromosome, it is born as a male child. That is, an egg contains two X chromosomes (feminine) and a sperm
contains one X Chromosome and one Y-chromosome (Masculine). The X chromosomes of both the male and
female fuse together to produce a girl child. X chromosome from the mother and Y -chromosome from the father
produces a male child.

It is a contradiction that, the electron microscope of Gardner and shusted did not detect the masculine Y
chromosome. According to modern genetic science, there is no masculinity within an egg. A report supporting
this argument is given in ‘Genetics Today’ as follows:

Il. Transmission of the Sex Chromosome from Parents to Children in Genetic Science

The father gives an X to his daughter, a Y to his son. The mother gives an X to all her children. The son
receives an X from his mother and a Y from his father. The daughter receives an X each from both parents.

It argues that, an egg does not contains masculine nature at all. These two gender classes in genetic
science, create four models. But the genetic scientists could not identify these four models. That is why they
committed mistake.

Given below are four models, which prove the existence of male-female chromosomes in the egg of a
woman as in the sperm of a man. These four models are natural results. As we find out from these results the
former stage which causes them, we come to the conclusion that a woman’s egg contains male chromosome.
The genetic scientists may not appreciate this concept.

A child can be of any one of these models.

() Four procreative Models

1. A male child having the physical features of his father.

2. A female child having the physical features of her father.
3. A female child having the physical features of her mother.
4. A male child having the physical features of his mother.

The first three models suit to the genetic science. But, the fourth one does not. As we enquire how this
fourth model came into being, we come to the conclusion that the egg contains male chromosome.

Medical science claims that, there are two kinds of dynamics that operate, within a human body. These
are called ‘dominant’ and ‘recessive’ dynamics. Science says, the dominant one brings the recessive one under
control and gives birth to a new life. The essence of the Theory of Evolution is based on this concept. Let us
make it clear, how the four kinds of selections takeplace for a new generation, with the help of a index. During
an egg-sperm fusion, selection process takes place twice. In the first one, either the egg or sperm takes control.
This is called Active selection. During the second selection, either a male or a female is selected from the first
selection. This is called Dominant selection.

Equations
Active Selection
Active Male =
Active Female =
Dominant Selection
Dominant Male = Y
Dominant Female= X

<
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INDEX -1
. Active Male + Dominant Male
. Active Male + Dominant Female
. Active Female + Dominant Female
. Active Female + Dominant Male
INDEX - 11

Male and Male body
Female and Male body
Female and Female body
Male and Female body

A WN -

ILM+Y =M+M = Male and Male body
2M+X =F+M = Female and Male body
3.F+X =F+F =  Female and Female body
4. F+Y = M+F =  Male and Female body

The above given index can be explained as follows:

When egg-sperm fusion takes place, one of them is selected, based on the activeness. The chromosome
divides again. Based on the dominant nature, either a male or female is selected. Thus a zygote is born. That is,
when an active sperm and a dominant masculine gender part are selected, the baby is male with the physical
features of his father. When an active sperm and a dominant feminine gender part are selected, a girl having the
physical features of her father is born. If an active egg and a dominant feminine gender part are selected, a girl
having the physical features of her mother is born. When an active egg and a dominant masculine gender part
are selected, a body having the physical feature of his mother is born.

The Anima-Animus Theory of C.G.Yung supports this argument. The essence of Anima-Animus
Theory is that, a female is present in hidden state within a male and vice versa. If science finds out any trust in
the Anima-Animus Theory, it has to admit the above mentioned four-model genetic theory too. But this hidden
Anima-Animus phenomenon can not be observed through any electron microscope.

Let us introduce four famous Malayalees (Kerala Citizens) as visual proof for the above mentioned
four models:

Ist Model >Film-Star Mammootti- Male having the Physical feature of father.
2nd Model> Matha Amruthanandamai -Female having the physical feature of father.
3rd Model > Kamala Surayya - Female having the physical features of mother.
4th Model > Film-Star Mohanlal -Male having the physical feature of mother.

If you analyse the 4th model, you come to the conclusion that, the model put forward by genetic
science that, masculine gender system is not present in an egg is wrong.

Osho said that, if the effect of stars and planets on sperm, pregnancy, grown-up, human being etc are
not observed by science, the genetic technological revolution will be a failure. We know that science cannot
exist without proofs. There is no doubt that, scientists will remain silent till they get proof. Till then, science can
imitate logical thinking.

The failure of Cloning

Scientists took out the egg from a goat and replaced its nucleus with the nucleus taken from the cell of
a male-goat. Then they placed that egg in the uterus of a female goat. The kid grown from that egg was a female
with the physical features of a male-goat. It was given the name Dolly.

There is a relevant question about this experiment that, ‘Why a male or female goat is not born with the
physical features of its mother?” But, that has only a 50% chance. Because, Dolly is of the fourth model, in a
birth chance.

In a procreative process, any one of the above four models can take place. It is sure that the birth of
Dolly took place so. But one thing is certain:

If the nucleus from an egg is removed, a kid having the physical features of the mother will not born.
Because, if the part related to the genetic system is removed from a female-goat, there remains no chance of a
selection. Another problem rises have: Is procreative process possible without the fusion of the nuclei of male
and female goats? There is a possiblity. We know that, all the living beings were evolved from the single-celled
bacteria. Since big animals were evolved from these single-celled organisms, in the minute level within them,
the same binary fission, as in bacteria, continues to take place.

For the question, whether a particular earth-worm is male or female, the answer is ‘both’. One end of it
is masculine as the other end is feminine. When it likes to have sex, it joins both its ends and does the
procreative process. Another question is ‘Whether a uterus is present in it or not’.

If an uterus is present in its naturality within a male, the male and female characters in the sperm will
fuse together to procreate. We must remember that both the male flower and female flower bloom in the same
tree. If the uterus is present, nature will conduct the process of procreation.

Scientists must not end the experiment at Dolly. They must continue the same experiment till they get a
kid having the physical features of the mother. If the result is positive, they can conclude that the above opinion
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is wrong. As long as the four models are impossible through cloning, it will remain a failure. Because, science is
changing the fixed rules of nature into shattered and filthy models.

Chromosome 23 °Y’ contains over 200 genes and contains over 50 million base pairs of which
approximately 50% have been determined ( www.Chromosome Map 2015.com ) The real truth may get from
the unravelled genes.

I11. Cloning-Adultery To Heredity

It was a priest of the St. Thomas Monastery at Morovia, named Grigor Mendel, who revealed us the
secret of the initial stories compressed in the casket of heredity. That was in 1866. The lentil plants in his farm
were those, which revealed many secrets of transforming hereditary characters through generations. He
conducted his experiments on a particular kind of lentil plants called Pisumsativam, scientifically. He observed
eight characteristics including height of the plants; colour of flowers, leguminous seeds and seeds; external
nature of seeds etc.

He cultivated plants, mixing plants producing leguminous seeds having wrinkles and plants producing
round leguminous seeds. In all cases the result was plants producing round leguminous seeds. But the next
generation of plants produced by intermixing these plants, produced both kinds of seeds.

He, thus, found out many characters hidden in one generation, but revealed in the next generation. He
stated that, there are certain secret factors which cause the transformation of a character from on generation to
the next. We know call these factors as 'genes’. Each cell in a person has two genes which cause a particular
character. These are obtained one each from the parents. These are transferred to the next generation. Not only
these genes, but genes from the earlier generations too are transferred.

Genes are formed from four simple chemical factors-Adenine, Thyamine, Guanine and Litosine. We
acquire a band having 300 crore segments having all the four basic factors from the father and a similar on from
the mother. These two combine to form 300 crore base pairs. This is called DNA(Deoxy Ribo Nucleic Acid).
Each cell in every human being has such 300 crore base pairs.

When are remove the nucleus of the mother during cloning, DNAs which are to be transferred to the
next generation are lost. Science has to find out some remedy to this.

The visible difference between a sperm and an egg is that, the sperm has a tail which is not present in
an egg. One is dynamic whereas the other is static. An egg has an outer shell. This shell allows the most suitable
sperm only to enter the egg. In the stigma of a flower, pollens from thousands of plants reach with the help of
butterflies. At this stigma inhibitors resist all the pollens, and primers select the most suitable pollen for that
plant. Thus particular pollen is received by the flower. Similar process takes place in the egg of a female, too.
Many sperms reach the outercover of the egg. But the most suitable are is selected. In some cases, more than
one suitable sperm are selected and they enter the egg. If so, there is a chance of more than one baby born in the
womb.

According to the ‘four procreative models' as well as the 'Anima-Animus psychological observation',
sperm and egg have the same genetic structure. There is no doubt in it.

As the modern medical science provide certain medicine/hormones like stanalol, Testosterone etc. to
women athletes to increase their physical abilities, the athletes show some side effects. Some such side-effects
are: appearance of moustache, body becoming hairy like that of a male, hoarsening of the sound, stopping of
mensus, infertility etc. Even if such a girl stops taking these medicines, she will not acquire her formal physical
features. Like that, the anabolic steroid given to a male causes the generation of certain feminine features. Some
are: shrinking of the testicle, impotency, feminine sound, growth of mammery glands etc. Such transformations
happen, because of the hidden opposite gender characteristics. These sleeping characteristics wake up and grew
due to such medicines/hormones. Thus truth is well revealed before the modern science. Yet, they do not accept
this theory, because the male dominant nature rules the medical field, too.

This article is from the book "The Chemistry of Invisible” by Dharmaj Mitra. The contents of the book
are philosophy, Astrology, Psychology and Occult Science. The main view point of the text is to reveal the
hidden secrets of the above subjects that are unknown to the modern science. We can define everything in nature
by going through Astrology or Cosmic Chemistry.
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